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Std: 10th ICSE									Date: 02/07/2017
Sub: Biology							                      	Marks: 20                Time: 1 hr.                                                                                                                             Centre: Vastrapur
Chp- Nervous System 
Do as directed.

(A) One marker questions:                                                                                                                  [1 x 14= 14M]
(1) Fill in the blank: In this disorder, the image is formed in front of the retina in ___________ also known as __________.
(2) What is the relation between cranium and arachnoid?
(3) ___________ is used for ___________ and semicircular balancing.
(4) Two functions of the Nervous System.
[bookmark: _GoBack](5) Two proper characteristics of the structure of a Neuron.
(6) Differentiate between Sensory and Motor Neuron- 1 point.
(7) Two functions of cerebrospinal fluid.
(8) What is a Stimulus?
(9) Humans have more distinguished cones than rods in eyes. True or False?
(10) Define stereoscopic vision.
(11) Give three parts of Ear Ossicles.
(12) What is Pons Varoli?
(13) Function of Temporal Lobe and Medulla Oblongata.
(14) Distinction between Dorsal ganglion and Dorsal root.







(B) Three marker questions:                                                                                                                    [3 x 2= 6M]
(1) Give the functions of: Myelin Sheath, Acetylcholine, and Vitreous Humor.

(2)
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i. Label 6, 7, 8, 9. (2 marks)
ii. Function of 1 and 4. (1 mark)
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i1~ Sclera; 2 - Choroid; 3 - Retina: 4 - Suspensory ligament; 5 - Lens; 6 - Conjunctiva; 7 - Pupil;
- Iris.
)l Selera - protects the eve ball.
Ciliary muscle - to change the shape of the lens for viewing objects at different distances.
ke photosensitive layer of the eye ball is called retina. It contains rods and cones.
Bt is rhodopsin pigment present in the rods concerned with vision in dim light.
| Wellow spot is the place of best vision on the retina as it contains more cone cells. Blind spot
Jacks cone cells so no vision in this place.
#h structure in the ear is responsible for :
Egualizes air pressure on both sides of the tympanum ?
Receives vibrations from auditory canal and transmits them to the ear ossicles ?
To carry impulses from inner ear to the brain ?
To amplify the vibrations received from ear drum ?
| Bastachian tube (1) Ear drum / Tympanic membrane
| Amditory nerve (iv) Ear ossicles.
adjoining figure shows the structure of a
an eye.
Label the parts 1-9.
} State the function of part 1, 2, and 7.
What special advantage do human beings derive
in having both eyes facing forward?
1 - Lacrymal glands; 2 - Lacrymal duct; 3 - Eyebrow; 4 - Eyelid; 5 - Lacrymal sac;
& - Nasolacrymal duct; 7 - Iris; 8 - Pupil; 9 - Lower eyelid.
Part 1 - Lacrymal gland - to produce tear.
Part 2 - Lacrymal duct - to pour the tear into the eye.
Part 7 - Protect the eye ball.
It provides a binocular vision i.e., both eyes are responsible for viewing an object.
e shows the principal parts of human ear. Study the diagram and answer the
g questions :
bel the parts 1-8.
e the role of part 6 and 7.
1y is it harmful to use a sharp object to remove the wax from ear?
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